A.-a.cnae'sw-;wr'

- :Time

| 071'953' . (Pages:i® Name.......... / .................... -

) /"/
__Re_g."No; ....................................
FOURTH SEMESTER M.Com. DEGREE (REGUIAR) EXAMINATION
.~ MARCH 2021 .
©Boss)
‘MCom. ..

MCM 4C 15—-INCOME TAX LAW PRACTICE AND TAX PLANNINGNH
| ' (2019 Admlssmns) L L

: Thre,e Hours - S Ma.x1mum30 Weig_htage :

‘ Genei'al Instructions .

“In cases where chmces are prov1ded students can attend all questlons in each sectlon

The minimum number of questlons to be attended from the sectlonfpart shall remain the same.

There will be an overall celhng for each. sectlon/part that is equlvalent to the maximum welghtage -

- of the sectlon/part

iii) Income from House .property - - Rs: 60,000

PartA

| Answer any four questions.
Each question carries 2 welghtage._ '

‘Expla.m tax plannlng regardlng assessment of AOP/BOL

_ What are the deductlons available to corporate assessees ‘7

Explain the Tax planmng_m relation to Make or Buy. | ‘

‘Describe the Assessment of Limited Liability Partnefship (LLP).

'What is MAT and explam the basic prov1smns of MAT. "

Expla.m different types of compames accordmg to taxatlon pomt of view.

From the followmg information, compute net tax payable by an Assomatmn of Person s for the
assessment year 2019-20'if X, a member, is liable to pay tax on his other i income :

i) Long term cap1tal gain (computed) - Rs. 75,000
i) Lottery: winning (gross) .~ - Rs. 80,000

(4 x 2 = 8 weightage)
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Part iB'
B Answer any- four cjuestions o
. Each question carries 3 wetghtage
8. Explam the speclal provisions apphcable to assessment of total income of Compames E
9." Descnbe the condltlons of quahfymg ship under Tonnage Tax | |
.10.. Explam the Tax Planmng to Shut Down or Contlnue DeC151ons

11. From the followmg, compute the total income .of the ﬁrm and tax payable by it for the
AY201920 o o .

1) Proﬁt from small scale 1ndustrlal undertakmg z 4, 50 000
- i) Proﬁt from poultry breedmg busmess i 3 20 000
| iii) Short term capltal loss 7 1 50, 000. .
.. 1v) Long-term capltal gams z 3, 50 000.
v) Interest from Bank g 70,000. |
vi) Donation to chantable institution (approved) by cheque 7 1,20,000..
12. For the A.Y. 2019 20 the J odhpur Co-operative 8001ety derived total i mcome from the followmg
1) Income_from processmg_ with the a1d of power I 10’0007
-ii} Income from collective dis_posaI of labour of its members 'z. 15,000.
m) ‘ InteréSt.ﬁfom another Co-operative Society (Gfoss) Z 30,000. :
vy Income from'House Property ¥ 20,000. |
v-) Income from other busmess 7 10,000. '

Determme its taxable income and calculate tax.

13. From the following information compute the tax payable by a tonnage tax company for the A.Y.
2019-20 ; | ' - ‘ o

i) The company has two qualifying ships. The net tonnagé of Ship I is 27,749 ton 400 kg

and Ship 1II 16,750 ton and 500 kg.

i) ShipI runs for 365 days during the previous year and Shlp I for 150 days during the
previous year.

iii) Turnover of core activities ¥ 20 crore.

i) P_roﬁ_t from incidental activities 7 5.5 lakh.




14 From' the followmg partlculars, compute the total income of Z Lid. An Indlan company for the Sl

i It has dlstrlbuted d1v1dend of 2‘ 50,000 on: 1.9. 2018

15.

16.

17.
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A Y 2019-20 :
1) ‘ Interest on Securltles 3 2 000 (Gross)
©o i) -Busmess Income 7 3,00, 000 )

jii) Interest on debentures of an Indian Paper Mill Ltd 3 50 000 (Gross) '

iv)‘- Dividend from an Indian Company 7 20, 000 (Gross)

. (4 x 3 = 12 weightage)
‘_PartC”F_-. = ' :

- Answer any two queétions . :
Each questum carries 5 wezghtage '

Explain Tax Planning in relatlon to setting up of a new’ business thh relatlon to Locatlon, Nature ‘

and form of orgamzatlon

The directors of a domestic company whose ex:stmg capital is ¥ 1 crore all in Equity shares, proposes . '
to expand its business for which an additional investment of 3 50 lakhs would be needed. The-

entire money can be raised either by issue of Equlty shares or by issue of 10% Debentures. They
declde in favour of issue of Equity shared.

-~ AsaTax consultant do you approve the proposal ? Assume that the rate return is 20% and rate of

income tax is 30%.

Suhas' Company Ltd. is a widely held domestic company. The'following are the partic‘:ulars of its
1ncome in respect of the previous year 2018-2019 : '

: a)’A'- Income from business 7 1, 10 00, 000

b) Interest from Govt. Securitie's z 20,000.«

¢) Short term capital gains u/s 111A 3 36,000.

d) | Long term capital gains ¥ 66,000.
_e) Dividend from dorestic company (gross) z 20,000,
" f) Dividend from 'foreign company ¥ 20,000, -

g) Book Profit u/s 115JB z'. 1,05,00,000.

During the Previous Year the company donated by cheque ¥ 50,000 to National Defence Fund.
Compute company’s total income and tax payable for the A.Y. 2019-20. '
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18 A B and C are partners in a firm; sharmg proﬁts and losses in the proportlons of 2/5th 2/5th and
1/5th respectlvely The Profit and Loss Account for the year ended 31st March, 20 19is as follows

Items _ Amount ”Items o Amount
- To Sundry Trade 1,02,000 | ByGrossProfitid | = 4,78,200

-Expenses R | ‘By 'Interest .oﬁ'Securities_ : .

'To Interest on Capltal Gross; ' E 10,000

@13%: ’ .

"A 13,000 .

B6500 . e

C 6,500 “ | 2e000 | .

To Rent to B 80000 |

ToSalaryto B 12,000 |

“To Cpl'nmis'si_on'toC R - 86,000

ToNet Profit - 2,92,200 o

Total . 4;88,200 | Total 4,88,200

| Compute the total income of the firm..

@2x5= 10 weightage)




